Journal of Nonlinear Analysis and Optimization

Vol. 15, Issue. 1, No.6: 2024

ISSN: **1906-9685**



(n, m) NORMAL AND (n, m) QUASI-NORMAL OPERATORS IN MINKOWSKI SPACE M

D. KRISHNASWAMY Department of Mathematics, Annamalai University, Annamalai Nagar, Tamil Nadu, (E-mail: krishna_swamy2004@yahoo.co.in) ORCID:0000-0002-1192-8520

J. PRABHA Department of Mathematics, AnnamalaiUniversity, Annamalai Nagar, Tamil Nadu, (Email: krithika0392@gmail.com) ORCID:009-0005-6992-9226

Abstract

In this paper, we have discuss about the some theorems and proposition of (n, m) normal and (n, m) quasi-normal operators in Minkowski space.

2020 AMS Classification: 15A09, 15A24, 15A57.

Keywords and phrases: Normal, quasi-normal, Minkowski Adjoint, Minkowski Inverse, Minkowski space.

1. Introduction

Throughout we shall deal with $C^{n\times n}$, the space of $n\times n$ complex matrices. Let C^n be the space of complex n-tuples, we shall index the components of a complex vector in C^n from 0 to n-1, that is $u = (u_0, u_1, u_2, ..., u_{n-1})$. Let G be the Minkowski metric tensor defined by $Gu = (u_0, -u_1, -u_2, ..., -u_{n-1})$. Clearly the Minkowski metrix matrix

$$G = \begin{pmatrix} 1 & 0 \\ 0 & -I_{n-1} \end{pmatrix} \tag{1}$$

 $G = G^*$ and $G^2 = I_n$. In[9], Minkowski inner product on C^n is defined by (u, v) = [u, Gv], where [.,.] denotes the conventional Hilbert space inner product. A space with Minkowski inner product is called the Minkowski space and denoted as M. For $A \in C^{n \times n}$, $x, y \in C^n$ by using (1), $(Ax, y) = [Ax, Gy] = [x, A^*Gy]$

$$= [x, G(GA*G)y] = [x, GA^{\sim}y] = (x, A^{\sim}y).$$

where $A^{\sim} = GA^*G$. The matrix A^{\sim} is called the Minkowski adjoint of A in M. Naturally, we call a matrix $A \in C^{n \times n}$ m-symmetric in M if $A = A^{\sim}$. For $A \in C^{n \times n}$, let A^* , A^{\sim} , A^{m} , A^{\dagger} , R(A) and N(A) denote the conjugate transpose, Minkowski adjoint, Minkowski inverse, Moore-Penrose inverse, range space and null space of a matrix A respectively. I_n denote the identity matrix of order $n \times n$.

Generalized inverses of matrices have important roles in theoretical and numerical methods of linear algebra. The most significant fact is that we can use generalized inverse of matrices, in the case when ordinary inverses do not exists, in order to solve some matrix equations. Similar reasoning can be applied to linear (bounded or unbounded) operators on Banach and Hilbert spaces.

n-power quasi-normal operators were defined and discussed by mecheri [7] and ould Ahmed mahamoud sid Ahmed [8]. Alzuraiqi [3] and jibril [6] introduced the n-power normal operators. Moreover Al-Loz [2] discussed about the concepts of (n, m)-normal powers operators on Hilbert space. Several characteristics of (n, m) normal and (n, m) quasi-normal operators will be examined in this paper. We will see some related theorems and proposition are given below.

2. Preliminaries

Definition 2.1. An operator E is said to be normal in M if $E^*E = E E^*$

Definition 2.2. An operator E is (n, m) normal operator in M, if $E^n(E^{m^{\sim}}) = (E^{m^{\sim}})E^n$ here (n, m) are positive integer.

Definition 2.3. An operator E is called n-normal in M if E^n is a normal operator in M This is equivalent to $E^{\sim}E^n=E^nE^{\sim}$.

Definition 2.4. An operator E is called n-quasi-normal operator in M, if $(E^*E^n)E=E(E^nE^*)$.

3. (n, m) normal operator in Minkowski space

In this section some basic properties of (n, m) normal operator in Minkowski space are derived.

Proposition 3.1. If E is operator in Minkowski space in M and E be (n, m) normal operator in Minkowski space in M, then E^{nm} is (n,m) normal operator in Minkowski space in M.

Proof:

Given

E is (n, m) normal operator in Minkowski space in M

So
$$E^n(E^m^{\sim}) = (E^m^{\sim})E^n$$

We know that $(E^k)^{\sim} = (E^{\sim})^k$ for each non-negative integer.

To prove E^{nm} normal operator in Minkowski space M

$$(E^{nm})(E^{nm})^{\sim} = (E^{n})^{m} ((E^{m})^{n})^{\sim}$$

$$= (E^{n} E^{n} \dots E^{n}) (E^{m} E^{m} \dots E^{m})^{\sim}$$

$$m\text{-times} \qquad n\text{-times}$$

$$= E^{n} E^{n} \dots E^{n} (E^{m})^{\sim} (E^{m})^{\sim} \dots (E^{m})^{\sim}$$

$$= E^{n} E^{n} \dots (E^{m})^{\sim} E^{n} \dots (E^{m})^{\sim}$$

$$= (E^{m})^{\sim} (E^{m})^{\sim} \dots (E^{m})^{\sim} E^{n} E^{n} \dots E^{n}$$

$$= (E^{m} E^{m} \dots E^{m})^{\sim} (E^{n} E^{n} \dots E^{n})$$

$$n\text{-times} \qquad m\text{-times}$$

$$= ((E^{m})^{n})^{\sim} (E^{n})^{m}$$

$$= ((E^{n})^{m})^{\sim} (E^{n})^{m}$$

$$= (E^{nm})^{\sim} (E^{nm})$$

$$(\mathsf{E}^{\mathsf{nm}})(\mathsf{E}^{\mathsf{nm}})^{\sim} = (\mathsf{E}^{\mathsf{nm}})^{\sim} (E^{nm})$$

Therefore (E^{nm}) is normal operator in Minkowski space M.

Proposition 3.2. E be (n, m) normal operator in Minkowski space M iff E be (m, n) normal operator in Minkowski space M.

Proof:

Given E be (n, m) normal operator in Minkowski space M.

So
$$E^{n} (E^{m})^{\sim} = (E^{m})^{\sim} E^{n}$$

Take $E^{m} (E^{n})^{\sim} = ((E^{m} (E^{n})^{\sim})^{\sim})^{\sim}$
 $= (E^{n} (E^{m})^{\sim})^{\sim}$
 $= ((E^{m})^{\sim} E^{n})^{\sim}$
 $= (E^{n})^{\sim} E^{m}$
 $E^{m} (E^{n})^{\sim} = (E^{n})^{\sim} E^{m}$

Therefore E be (n, m) normal operator in Minkowski space M.

Proposition 3.3. E be (n, m) normal operator in Minkowski space M. Then

- i) E^{\sim} is (n, m) normal operator in M..
- ii) E^{-1} exists then E^{-1} is (n, m) normal operator in M.
- iii) E is unitary equivalent to F then, E is (n, m) normal operator in M. Proof:
- i) Given E is (n, m) normal operator in M.

So, We have $E^n (E^m)^{\sim} = (E^m)^{\sim} E^n$ Replace E by E^{\sim}

$$(E^{\sim})^{n} ((E^{\sim})^{\sim})^{m} = (E^{\sim})^{n} E^{m}$$

= $(E^{m})(E^{\sim})^{n}$ [by using 3.2 proposition]
= $((E^{\sim})^{\sim})^{m} (E^{\sim})^{n}$

Therefore $(E^{\sim})^n ((E^{\sim})^{\sim})^m = ((E^{\sim})^{\sim})^m (E^{\sim})^n$

ii)
$$(E^{-1})^n ((E^{-1})^{\sim})^m = ((E^{\sim})^m E^n)^{-1}$$

 $= ((E^n) (E^m)^{\sim})^{-1}$ [Since E is (n, m) normal operator]
 $= ((E^m)^{\sim})^{-1} (E^n)^{-1}$
 $= ((E^{-1})^{\sim})^m (E^{-1})^n$

$$(E^{-1})^{\mathrm{n}} ((E^{-1})^{\sim})^{\mathrm{m}} = ((E^{-1})^{\sim})^{m} (E^{-1})^{\mathrm{n}}$$

Therefore E^{-1} is (n, m) normal operator in Minkowski space M.

iii) Since E is unitary equivalent to F then $E = IF I^{\sim}$ and $(IF I^{\sim})^n = IF^nI^{\sim}$ To prove I be (n, m) normal operator in Minkowski space M.

Take
$$E^n$$
 $(E^m)^{\sim} = (IF I^{\sim})^n ((IF I^{\sim})^m)^{\sim}$
 $= IF^n I^{\sim} ((IF^m I^{\sim})^{\sim})^{\sim}$
 $= IF^n I^{\sim} I(F^m)^{\sim} I^{\sim}$
 $= IF^n (F^m)^{\sim} I^{\sim}$
 $= I(F^m)^{\sim} F^n I^{\sim}$
 $= I(F^m I^{\sim})^{\sim} IF^n I^{\sim}$
 $= (I(F^m I^{\sim}))^{\sim} IF^n I^{\sim}$
 $= ((IFI^{\sim})^m)^{\sim} (IFI^{\sim})^n$
 $= (E^m)^{\sim} E^n$

Therefore E be (n, m) normal operator in MInkowski space M.

Proposition 3.4. If F is (k, m) normal and (k + 1, m) normal operator in Minkowski space M here k, m are positive integer then F be (k + 2, m) normal operator in Minkowski space M and by induction hypothesis F is (n, m) normal operator in Minkowski space M for all (n, m).

Given F be (k, m) normal operator in Minkowski space M and F be (k + 1, m) normal operator in Minkowski space M

So we have

$$F^{k}$$
 $(F^{m})^{\sim} = (F^{m})^{\sim}$ F^{k} and F^{k+1} $(F^{m})^{\sim} = (F^{m})^{\sim}$ F^{k+1}
Similarly F^{k+2} $(F^{m})^{\sim} = F F^{k+1} (F^{m})^{\sim}$
 $= F (F^{m})^{\sim} F^{k+1}$
 $= F (F^{m})^{\sim} F^{k}$ F
 $= F F^{k} (F^{m})^{\sim}$ F
 $= F^{k+1} (F^{m})^{\sim}$ F
 $= (F^{m})^{\sim} F^{k+2}$
 $F^{k+2} (F^{m})^{\sim} = (F^{m})^{\sim} F^{k+2}$

Therefore by induction hypothesis F be (k + 2, m) normal operator in Minkowski space M \Rightarrow F be (n, m) normal operator in Minkowski space M for all n, m.

Theorem 3.5. Let E commutes with F. If E and F are (n, m) normal operators in Minkowski space EM then EF be (n, m) normal operators in Minkowski space EM.

Proof:

Let E commutes with F and $(EF)^n = E^n F^n$

Additionally E commutes with F^{\sim} and F commutes with E^{\sim} Take

$$((EF)^{n}(EF)^{m})^{\sim} = E^{n}F^{n} (E^{m}F^{m})^{\sim}$$

$$= E^{n}F^{n} (F^{m})^{\sim} (E^{m})^{\sim}$$

$$= E^{n}(F^{m})^{\sim} F^{n} (E^{m})^{\sim}$$

$$= (F^{m})^{\sim}E^{n} (E^{m})^{\sim}F^{n}$$

$$= (F^{m})^{\sim}(E^{m})^{\sim}E^{n}F^{n}$$

$$= ((EF)^{m})^{\sim}(EF)^{n}$$

Hence EF be (n, m) normal operators in Minkowski space M.

Proposition 3.6. If F be operator in Minkowski space M, let $A = F^n + (F^m)^{\sim}$, $B = F^n - (F^m)^{\sim}$ and $D = F^n (F^m)^{\sim}$. F be (n, m) normal operator, then if D commutes with A and B in M.

Proof:

Given F be (n, m) normal operator.

$$DA = F^{n} (F^{m})^{\sim} F^{n} + (F^{m})^{\sim}$$

$$= F^{n} (F^{m})^{\sim} F^{n} + F^{n} (F^{m})^{\sim} (F^{m})^{\sim}$$

$$= F^{n} F^{n} (F^{m})^{\sim} + (F^{m})^{\sim} F^{n} (F^{m})^{\sim}$$

$$= (F^{n} + (F^{m})^{\sim}) F^{n} (F^{m})^{\sim}$$

$$= AD$$

Therefore DA= AD

Similarly DB = BD

4. (n, m) Quasi-normal operator in Minkowski M

Theorem 4.1. Let F be (n, m) quasinormal operator M.then so are

- i) γ for any scalar
- ii) If E is operator in Minkowskispace M which is unitarly equivalent to F in M then E is n, m) quasinormal operator M.
- iii) The restriction F/A of F to any closed subspace A of H that reduces F. Then F/A is (n, m) quasinormal operator M.

Proof:

Given F is (n, m) Quasinormal operator in Minkowski space M.

So
$$F^{n}(F^{\sim m} F) = (F^{\sim m} F) F^{n}$$

Here n, m are non-negative integers.

i)
$$(\gamma F)^n ((\gamma F)^{\sim m} \gamma F)$$

 $= \gamma^n F^n (\bar{\gamma}^m F^{\sim m} \gamma F)$
 $= \gamma^n \bar{\gamma}^m \gamma F^n (F^{\sim m} F)$
 $= \gamma^n \bar{\gamma}^m \gamma (F^{\sim m} F) F^n$
 $= (\bar{\gamma}^m F^{\sim m} F \gamma F) \gamma^n F^n$
 $= ((\gamma F)^{\sim m} \gamma F) (\gamma F)^n$

Hence γ F is (n, m) quasinormal operator in Minkowski space M

39

ii) Let $E=IFI^{\sim}$ here I is a unitary operator

Take
$$E^n$$
 $(E^{\sim m} E) = (IFI^{\sim})^n ((IFI^{\sim})^{\sim m} (IFI^{\sim}))$

$$= I F^n I^{\sim} (IF^{\sim m} I^{\sim}) IFI^{\sim}$$

$$= I F^n (F^{\sim m} F) I^{\sim}$$

$$= I (F^{\sim m} F) F^n I^{\sim}$$

$$= (IF^{\sim m} I^{\sim} IF I^{\sim}I) F^n I^{\sim}$$

$$= (I^{\sim} FI)^{\sim m} (IFI^{\sim}) (IFI^{\sim})^n$$

$$= (E^{\sim m} E) E^n$$

$$E^n (E^{\sim m} E) = E^{\sim m} E) E^n$$

Therefore E is (n, m) quasi-normal operator in Minkowski space M.

iii)
$$(F/A)^n ((F/A)^{m\sim} (F/A))$$

 $= (F^n/A)((F^{m\sim}/A)(F/A))$
 $= (F^n(F^{m\sim}F)/A)$
 $= ((F^{m\sim}F) F^n/A)$
 $= ((F^{m\sim}/A)(F/A)) (F^n/A)$
 $= ((F/A)^{m\sim}(F/A)) (F/A)^n$
 $(F/A)^n ((F/A)^{m\sim} (F/A)) = ((F/A)^{m\sim}(F/A)) (F/A)^n$

Therefore F/A is (n, m) quasi-normal operator in Minkowski space M.

Theorem 4. 2 If E and F are (n, m) quasi-normal operator in Minkowski space M such that $EF = FE = E^{\sim}F = FE = 0$ then E + F is (n, m) quasi-normal operator in Minkowski space M. Proof:

$$(E+F)^{n}(E+F)^{\sim m}(E+F)$$

$$= (E^{n}+F^{n}) (E^{\sim m}+F^{\sim m})(E+F)$$

$$= (E^{n}+F^{n}) (E^{\sim m}E+F^{\sim m}F+E^{\sim m}F+F^{\sim m}E)$$

$$= (E^{n}E^{\sim m}E+F^{n}F^{\sim m}F+E^{n}E^{\sim m}F+F^{n}E^{\sim m}F+E^{n}F^{\sim m}E+F^{n}F^{\sim m}F$$

$$= (E^{\sim m}E^{n}E+F^{\sim m}F^{n}F) \text{ [Since E and F are quasi-normal operators]}$$

$$= (E^{\sim m}E^{n}E+F^{\sim m}F^{n}F)$$

$$= (E^{\sim m}E^{n}+F^{\sim m}F^{n})E+(F^{\sim m}E^{n}+F^{\sim m}F^{n})F$$

$$= (E^{\sim m}E+F^{\sim m}F)(E^{n}+F^{n})$$

$$= (E^{\sim m}E+F^{\sim m}F)(E^{n}+F^{n})$$

$$= (E^{\sim m}E+F^{\sim m})E+(E^{\sim m}+F^{\sim m}E)(E^{n}+F^{n})$$

$$= (E^{\sim m}+F^{\sim m})(E+F)(E^{n}+F^{n})$$

$$= (E+F)^{\sim m}(E+F)(E^{n}+F^{n})$$

$$= (E+F)^{\sim m}(E+F)(E^{n}+F^{n})$$
Hence $E+F$ is (n,m) quasinormal operator in Minkowski space M .

Theorem 4.3 If E_1, E_2, \dots, E_r are (n, m) Quasi normal operator in Minkowski space M. Then $(E_1 \oplus E_2 \oplus ... \oplus E_r)$ and $(E_1 \otimes E_2 \otimes ... \otimes E_r)$ are (n, m) Quasi normal operator in Minkowski space M.

proof:

(i)
$$(E_1 \oplus E_2 \oplus \cdots \oplus E_r)^n ((E_1 \oplus E_2 \oplus \cdots \oplus E_r)^{\sim m} (E_1 \oplus E_2 \oplus \cdots \oplus E_r))$$

$$=(E_1^n \oplus E_2^n \oplus \cdots \oplus E_r^n)(E_1^{\sim m} \oplus E_2^{\sim m} \oplus \cdots \oplus E_r^{\sim m})(E_1 \oplus E_2 \oplus \cdots \oplus E_r)$$

$$= E_1^n(E_1^{\sim m}E_1) \oplus \dots \oplus E_r^n(E_r^{\sim m}E_r)$$

$$=(E_1^{\sim m}E_1)E_1^n \oplus \ldots \oplus (E_r^{\sim m}E_r)E_r^n$$

$$= ((E_1^{\sim m} \oplus E_2^{\sim m} \oplus \cdots \oplus E_r^{\sim m})(E_1 \oplus E_2 \oplus \cdots \oplus E_r))(E_1^n \oplus E_2^n \oplus \cdots \oplus E_r^n)$$

$$((E_1 \oplus E_2 \oplus \cdots \oplus E_r)^{\sim m} (E_1 \oplus E_2 \oplus \cdots \oplus E_r)) (E_1 \oplus E_2 \oplus \cdots \oplus E_r)^n$$

$$(E_1 \oplus E_2 \oplus \cdots \oplus E_r)^n \big((E_1 \oplus E_2 \oplus \cdots \oplus E_r)^{\sim m} (E_1 \oplus E_2 \oplus \cdots \oplus E_r) \big) = \big((E_1 \oplus E_2 \oplus \cdots \oplus E_r) \big)$$

$$E_2 \oplus \cdots \oplus E_r$$
) $^{\sim m} (E_1 \oplus E_2 \oplus \cdots \oplus E_r) (E_1 \oplus E_2 \oplus \cdots \oplus E_r)^n$

Therefore $(E_1 \oplus E_2 \oplus ... \oplus E_r)$ are (n, m) Quasi normal operator in Minkowski space M.

(ii)
$$(E_1 \otimes E_2 \otimes \cdots \otimes E_r)^n ((E_1 \otimes E_2 \otimes \cdots \otimes E_r)^{\sim m} (E_1 \otimes E_2 \otimes \cdots \otimes E_r)) (x_1 \otimes \ldots \otimes x_r)$$

$$= (E_1^n \otimes E_2^n \otimes \cdots \otimes E_r^n)(E_1^{\sim m} \otimes E_2^{\sim m} \otimes \cdots \otimes E_r^{\sim m})(E_1 \otimes E_2 \otimes \cdots \otimes E_r)(x_1 \otimes \ldots \otimes x_r)$$

$$=E_1^n(E_1^{\sim m}E_1)\otimes\ldots\otimes E_r^n(E_r^{\sim m}E_r)(x_1\otimes\ldots\otimes x_r)$$

$$= (E_1^{\sim m} E_1) E_1^n \otimes \dots \otimes (E_r^{\sim m} E_r) E_r^n (x_1 \otimes \dots \otimes x_r)$$

$$= ((E_1^{\sim m} \otimes E_2^{\sim m} \otimes \cdots \otimes E_r^{\sim m})(E_1 \otimes E_2 \otimes \cdots \otimes E_r))(E_1^n \otimes E_2^n \otimes \cdots \otimes E_r^n)(x_1 \otimes \ldots \otimes x_r)$$

$$= ((E_1 \otimes E_2 \otimes \cdots \otimes E_r)^{\sim m} (E_1 \otimes E_2 \otimes \cdots \otimes E_r)) (E_1 \otimes E_2 \otimes \cdots \otimes E_r)^n (x_1 \otimes \ldots \otimes x_r)$$

Hence
$$(E_1 \otimes E_2 \otimes \cdots \otimes E_r)^n ((E_1 \otimes E_2 \otimes \cdots \otimes E_r)^{\sim m} (E_1 \otimes E_2 \otimes \cdots \otimes E_r)) (x_1 \otimes \cdots \otimes x_r)$$

$$= ((E_1 \otimes E_2 \otimes \cdots \otimes E_r)^{\sim m} (E_1 \otimes E_2 \otimes \cdots \otimes E_r)) (E_1 \otimes E_2 \otimes \cdots \otimes E_r)^n (x_1 \otimes \cdots \otimes x_r).$$

Therefore $(E_1 \otimes E_2 \otimes ... \otimes E_r)$ are (n, m) Quasi-normal operator in Minkowski space M.

References

- [1] Abood E.H and Al-Loz., On some generalization of normal operators on Hilbert space, *Iraqi Journal of Science*, 2 (56) (2015), 1786–1794.
- [2] Al-loz M.A., On (n,m)- normal powers operators on Hilbert space, Mc.s. thesis , univ. of Baghlad , *College of science*, 2016.
- [3] Alzuraiqi S.A., On n-normal operator, General Math. 1(2), (2010), 61-73.
- [4] Brown .A., On a class of operators, Proc. Amer. Math. Soc., 4 (1953), 723-728.
- [5] Jibril A.A., on operators for which T^{*2} $T^2 = (T^* T^2)^2$, International Math. Forum, 5(46), (2010), 2255-2262.
- [6] Jibril A.A.A.S , On n-power normal operators, *The journal of science and engineering* . volume 33, number 2A , (2008), 247-251.
- [7] Mechari S., On n-power quasi-normal on Hilbert space, Math. Ana. and App., 3(2) (2011), 213-228.
- [8] Ould Ahmed Mahmoud sid Ahmed, On the class of n-power quasi-normal operators on the Hilbert space, *Bull. of Math. Anal. Appl.*, 3,2 (2011), 213-228.
- [9] Renardy M., Singular value decomposition in Minkowski space, linear Algebra Appl., 236, (1996), 53-58.